
Keys: Grade 1, IMO Demo Test Grade : 1
Time : 1 Hr
Answer Sheet

1.   C - 26

2.   D - D

3.   C - C

4.   A - A

5.   D - D

6.   B - brinjal

7.   B - 4

3 + 3 + 3 + 3 = 12, therefore total 4 groups of 3 flowers can be formed.

8.   B - B

A cylinder can roll its curved surface and can slide on its flat surfaces.

9.   C - 18

10.   D - 12 - 4

11.   D - D

60 - 32 = 28.
Abacus (D) is showing the correct result.

12.   B - B

13.   C - 24th April
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14.   A - 100

15.   A - Kiran

16.   B - 10 Kg

30 Kg - 20 kg = 10 Kg

17.   D - Forty Four

18.   B - B

Rs 24 + Rs 6 = Rs 30. 
Football costs Rs 30 so (B) is the answer.

19.   D - Thirty four

20.   D - D

62 + 14 = 76 so choice (D) is incorrect.

21.   C - 24

20 + 4 = 24

22.   A - 18

14 + 4 (hidden stars) = 18 stars

23.   B - Rs 25

Rs 75 - Rs 50 = Rs 25

24.   D - All of the things shown

Rs 40 + Rs 35 + Rs 50 + Rs 70 = Rs 195.
Total price of all items is Rs 195. She has Rs 200. She can buy all items.

Copyright @2019 Olympiad Genius. All rights reserved. Page 2 of 3



25.   D - 18

Total legs:
2 Tigers = 4 + 4 = 8
1 Elephant = 4
2 Clowns = 2 + 2 = 4
1 Bird = 2
Total = 8 + 4 + 4 + 2 = 18 legs

26.   D - 11

Fruits = 2 apples + 3 bananas + 2 oranges + 1 apple + 3 pomegranates = 11 fruits.

27.   C - 11 feet

Bus = 7 feet
Car = 4 feet
Total length = 11 feet.

28.   B - 6

29.   A - 6

30.   C - Rs 50

31.   C - 5 tens - 7 ones

32.   D - 10

10 + 10 + 10 = 30

33.   A - A

10 Tens - 22 Ones = 100 - 22 = 78.
First abcus is showing 78.

34.   C - 35 Kg

Weight of fruit basket = 30 + 10 + 10 - 15 = 50 - 15 = 35 Kg

35.   C - 6

20 + 20 + 20 + 20 + 20 + 20 = 120
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